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. (a+b)(a-b)=ad®-b?
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HE IH Y AGHE, AIAQ EFCD= | R
ARl AD = a, AB = b A, A4

GBFH 9] §o]&? G—H
B—

® a2 - 2ab - b? @ a® + 3b* - 2ab

(@)—a2 + 3ab — 2b> @ -a? + 3ab - b>

® -a* + 2ab - b*

oGBFH = oABCD — oAGHE — oEFCD
=ab - (a-b)?-b? =ab - (a* - 2ab + b*) — b?
= —a® + 3ab — 2b>




3. (x-2y-307 % Asete] o] that AL R Hejstu?

D x? + 4y? + 9z% — 4xy + 12yz — 62x

@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972

@ 4y? +12yz + 92% + (—4y — 62)x + x*

® 922 +4y* + x2

(x =2y —32)% = x? — (4y + 62)x + 4y? + 12yz + 972




T oA A7 AR E A2
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mlo

O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a®+ 4b% + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x3+38
Q(XQ_xy+y)(x2+xy+y2) =x4—x2y2—|—y4

©® (x-

DPx+1)2=x*-2x2+1

@ (2 -xy+y*) (P +xy+y?)
= (2 +y*)? - (xy)?
— x% 4 a2)2 4yt




@ (ax-2)+ (7-2x) = 2x-5
(6% +2y%) =20 = 3x%) = 7a°
® (x+y)* =x"+ 3% + 307 +y°
@ (x+y+2)? =22+ +2° + 20y + 2z + 2

® (FP+1)+(x+1)=x-x+1

O (4x-2)+(7T-2x)=2x+5




6. THEA] (2 + 20 3)(3x + 1+ k) o AANAIOIA] Aeke] A% 15
o ), A4 ko] ZHe?

®-3 @0 ® 3 @6 @)




4] (522 + 3x + 1) NGRS o, 2 ] A?

® 10 @ 13 ® 16 @19 ® 25

B

(5x% + 3x + 1)(5x% + 3x + 1) A

i ) (%17‘(]—3(}) (Ei]—ﬁo]-) —/] O“(l)— 9x>
i) (olxFah)x (/;.]'—/,\— H) 9] 749 2 x 5x?
= 5x2 4+ 5x2 + 9x2 = 19x2

© 19




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




9.

(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18




10. a-b=1°]1,a*+b* =-19 W, o' 4 p*° 0] FL= F5HH?

-2 @1 oo @ 1 ® 2

B

b=a-1%a?+b*=-19] g4

Z-a+1=094 a® =-1

a=b+12a%>+b?=-1° HiystH

P2+b+1=009Ap =1

a4+ b2 = (a3)* x a® + (b3)6 x b2
=a’+b*=-1




11.

a+b=1, a*+b*=-192 1, a®% 4 p>°00 o] gr27

@ -2 @—1 ®0 @ 1

B

a+b=1°Ab=1-a®l a2+ b2 =-1°B2
a?+(1-a)?=-1,2a>-2a+2=0,a>-a+1=0
o] 41| ol a + 12 ot
(a+1)(@®-a+1)=0,a>+1=0

Ze oz o

BP+1=00B2 43 =-1, b>=-1

- @200 | 2006 — (g3)666 . ;2 | (53)668 . 2

=a’+b%=-1




12, F A gyl tiote] x2 43y =7, x+y=3 & o, x5 +y5 9] ZI=
T-shodzt.

Ch "
H -

>
> =g 123

(x4+y)2=x+y*+2xyoll A 32 =7+ 2xy, xy=1
(x+9)3 = x>+ 93+ 3xy(x +y) oA x® +y2 =18
4y = (2 +y°)( +y%) - Py (x +y)
=7x18-1°x3
=123




